	Quiz #9,  2168 Spring 2012
Name: 

	Σ=

10

	Q1: 4 points

We saw that the critical number k of searches, to make sorting worthwhile, is relatively low (log n). This assumed that we have an O(n log n) algorithm at hand. Imagine, there would be only O(n2) sorting algorithms. Would the number k of critical searches required to make sorting worthwhile increase or decrease? 
Give a mathematical proof for your answer.
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	Q2: 6 points
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Traverse the graph depth first and breadth first, starting with a.

Depth First: 

Breadth First:

What's the closest path between a and h?
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Never forget your name.

